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D.sin 30°

Answer: A

O drdism @

, 1 + tan245°
"1+ tan245°

A.tan90°

B. 1

C.sin45°

D.60°

Answer: B

Qaﬂ%ﬁ’rsﬁvaﬁ



https://dl.doubtnut.com/l/_66AykdjnDZV5
https://dl.doubtnut.com/l/_zAzYG8opRAqT

3.5in24 = 2sin A dd I &Id & STafb ARSI & :

A.0°

B.30°

C.45°

D.60°

Answer: A

Oaﬁ%ﬁrmaﬁ

2tan 30°
X R ¢
1 — tan230°

A. cos 60°


https://dl.doubtnut.com/l/_zAzYG8opRAqT
https://dl.doubtnut.com/l/_ABFLGU0bTE7w
https://dl.doubtnut.com/l/_wu1jk07lo4o7

B.sin 60°

C.tan60°
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1. AABC, ¥ {311 BT B IHBIUT &, AB=24 cm 3R BC=7 cm &l
fAgfafad & 94 sira Hifaie:

sinA, cos A
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8. fAgfaifad & 7 st Hifare:

sin30° + tan45° — cos ec60°
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